A—l&l Show QLCKQBr **(o SHDW \Bour work,

E‘ﬂo each exercisee and find your answer at the bottom of the page. Write the letter of the exerclsej
)

the box above the answer, (Assume that figures that appesar to be rectangular are recta ngles

Part 1. Find the perimeter.

@ | o " 9x ~10 o

3x+8 4x —1 \ 2% -3
2 x2 XxX“ +4
Sx +2 dx -7
Part 2. Find the missing side length. The perimeter, P, is givan.
© | o 7x +2 A
_ 2 _
3x -9 2x 9
5x 4x -5
6x + 6 o 3x 44
P=13x +11 P=21x+2 P=3x2-9x—-5

Part 3. Find the area,

e --' 9 - @ xl ' 2x_
3x | “2)C-2 ' Ox x

e
i,
“

8x -5 x* +7x +4

Part 4. Find the areq of the shaded mgion.




A\ Snow Pocket B Show ouwr work.,

| Whot Do oo Coll o Bunch of. ..

1 sheep stuek inasauna? .. D T e
SR IBI A T I e T T T S

22 Wolves not feeling well? o
5 1117 6 8 B 1 13 5 & 15

33 saimon jammed togetherinariver? .. .,
- _ 5 16 6 7 1& 2 18 10

Write the expression in factored formm, then find your answer in the answer column
below. Each time the exerclse number appears in the code, write the letter of the |

answer In the space above it. If the answer has a

, leave the space blank,

@ 3 -21n + 30
9 n? +8n? +12n
©®s5n°-10n-40

_efhrt‘?’+81'12 - 60n

@ 2n® +18
@2:12 -18
‘Ia.nsmlrsl‘e
o 5(n+2)(n 4)
@ 2(n + 37
@ 2(n +3)n -3)
@ 3(n-2)n-5)
O a(n+3)n+4)

.4n(n-—-3)(n+5)
@ 4n(n-3){n-5)
@ 2(n2 + 9)

- @ n(n+2)n+s)
@ 3(n-1)n-10)

@ s5(n-2(n+4)

@ 6’ +21y +18
© 5.8 +22 -16y
@ 244° - 56y% - 80y
3
@ 20y° + 45y
| .
@ 20,2 - 45y
@ 201° - 602 + 45y

Olravers "7-12
@ 5y -4y +4)
O 54(41° + 9)
o 3(2y + 1)y + 6)
®su(2y +3)7°
@ 5002y +3)2y - 3)
@ sy(3y - 10)y +1)

£ 0 M T L B I o S I Y O D P O 6

O 32y +3)y +2)
: 0 59(4y -1y -9)
: @52y -3°

O 8y(3y - 5)y +2)

10 yBy -8y +2)

® 71t + on® + 212
O so0n* - 3212

@ 361° - 60n? ~144n

@ 30n* + 2510 —5K?

@ 98r° - 2n
® 751* + 60n® +124?

Onevers 12-18
@ 31%5h + 1)k + )
@ sr?(en-1)n +1)
@ »(th+2)h +1)
@ 21%5n - 4)?

e 12h(8h + 4)(h 3)
@ 3n%(5n + 2)°

© 5r%(3h -1)2h +1)
@ 21%(5h + 4)(5h - 4)
@ n*(fh+1)r +2)
O 2n(71? +1f78% -1

O 12h(3h +2)h -6 |
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The Distance Formula — Step-by-Step

Name: 2 hx(l[[” g]g 5

Place letters and coordinates here:

o !
A7y B (32
X1 N X2 Y2
d = (%2 — %)% + (2 = y1)?
a= (3] Lp+ (-2]-[1)*
a= |(=3p*+(5]?
d=J 91+[25
d=y a4
Answer \_— MS”FY‘&(MC&\

T 5.8 rouwnded decdimol

|d=—m)7 +

Place letters and coordinates here:

iy O
G5,y D (-1,78)
X »n Xz VY2

—3’1)2

-5p2 + (- 8][4 )*
._2.)2

a= J(-1]-

Answer: _Z,E_SMD\-QS\' ragdicod

4.5 roundad daeimal,

Place letters and coordinates here:

Vg

I
_E (g.4) F @2
X Vi Xz ¥z
d = (xz = %1% + (2 — ¥1)?
a= [(2]-8)*+ -4-[H)
d=_|{-oh? + (-8
d= E"er—
d=
O
Answer ‘O

Place letters and coordinates here:

<t
G e5,0)

X1 W
d=\/(xz—x1)2+@2
2= J(2]-[Bp+¢

<
H (2, '7)

- J’1)2

Ti-|0)?

d*] (7p*+(7

d= =
d=+v 98
Vi 2
Nz
Answer: IV 2. Simplest roddcol

9.9 roundd desimad
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House Hopping

Distanice Formula: d = V(x2 —x)%+ (y,~y,? Midpoint Formua: (:c1 $x ¥ yz)

Y ——rrr—

2 2

Find out how many miles you travel when you visit your friends by completing the problems
below. The graph shows your house {point A) and your friends’ houses. Each unit aquals one
mile. Round decimals to the nearest tenth.

1. Your house to Brenna's 5. Chris's house to Brenna’s
2. Chris’s house to Helene's 8. Helene's house to Gillian's
3. Brenna’s house to Gillian's 7. Your house to Ethan’s
4, Your house to Chris's __ ) _ 8. Doug’s house to Fosters __
24

¢ Ethan

A (your house)

% Foster

Helone ¢

Luks

9. Find the total distance traveled if you left your house and went to Ethan’s, then to Foster's,
then to Doug's, and home again.

* 10, This is the perimeter of what shape?

Write the coordinates of the midpoint between the houses below.

11. Jen's house to Luke's : ]

12. Your house to Doug's

FS122012 Geometry Made Simple © © Frank Schaffer Publications, Inc. [ Distance formula, midpoint formula, and perimeter Ji°




Wﬁy Is the Lzﬁmry Not Mcﬁtg .ﬂny Mare ﬁmy ‘T a&s?

‘ Write 1we '.:}11 i+ h _-..a_.:;-x DG AN an T.=-+'Ifi .r Ehire i

Find the distance between the two givnn poinh. " necmw, round to the nearest tanth.
@ (-12) (78 @@E-4) (25 @70 (-112) @ (-5)(-0-9)
Find the midpoint betwesn the two given points. '

© (29.(310) @(5-105-5 @ (7-2)(10-8) @ (-3.0)(-1L8)

Use the grid cf the right to find the following: : : )
Q@ 4B | @ Mudpoint of AB.

o AC. 0 Midpoint of AC,
@ sc. @@ Midpoint of BC.
@ Perimeter of AABC.

iR

v

A

40 @ The quarterback throws a pass from a position. 10 yd from
N a goal Une and 25 yd from a sideline. A receiver catches
30 \\ the pass at a position 40 yd from the same goal line and

5 yd from the same sideline; About how long was the pass?

\ o On a.nother play the quarterback thmws a pass from

\ _ a position 12 yd from a goal line and 20 yards from
' a sideline. A receiver caiches the pass at a position
27 yd from the saine goal line and 15 yards from the

GOAL WNE| ' same sideline. About how long was the pass?
o 10 20 30 . ,

- SIDELIRE

10

A grid has been superimposed over }'

a map of the United States. Each / _ _ I
side of a square represents 200 mi. oS
The airports in Los Angeles (LAX), &

Minneapolis (MSP), and Miami
{MIA} are marked. Use the grid to
estimate these alr distances:

Q@ Lax to MsP . /

@ msp o MIA AY L
@ Miatolax | - - Ty
( _ | )
—— — . a— . = i — ;—\ , P B!
AR AHEBEEEBEBRHGHEHBEERE
&)= L] e lidlo N AINE) ®? uBfeg )

i I 2 R O T R BIFIRIT] [213] 18]
el y
“Trlangles: PUNCHLINE » Algebra » Book B
The Distance and Midpeint Formulas ®2006 Marcy Mathworks



